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In the presence of all three; he acquires it — 7P INWRR TAYMAR

OVERVIEW
MooIN instructs us regarding the laws of w"nyn how they pertain to a gentile.
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n''1 states that the 21211 did not institute w''»y» by a gentile. noon explains -
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If the 7p2: or the mM> was a gentile and the »X"w» (who is the 7°pon or the mY»)
told the gentile, ‘give the N7P5 or pay the loan to another YX2w>’, the X v does

not acquire the 11775 or the Mn. The reason is -
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For since even if the %7 told the gentile ‘acquire it for the X Ww>’, the YW
would not acquire it, for there is no '7°21' for a 2''1o, the same rule applies by

w'nyn that the XY is not 77312, n1von continues with a different case of w"ayn —
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And if the intended recipient is an 2'15¥ and one ®X"w (the M1 or the T°pon)

told another X" (the M- or the Tpo1), ‘give it to that 212’ the rule is that -
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As long as the giver does not retract, the m%/7751 should give it to the 0>y,

even if he was told not @' »yna -
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However if he retracts, the m5%/7701 should not give it to the 2'12¥ even if he

told him to give it to the w'"nyna 0"dY -
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Unless he cannot evade the 2'"12y who insists that he give it to him.
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And if the benefactor is a gentile (and he told one ?X7w> [the 7pd1 or the M?] to

give it to another YX7w"), it seems to N90N that the P8 is 71297, The reason is -
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For if the onon extracted the money of a »X=w> through w'"»y» which is a
Rnpw 872 NNO9:T -

' See X,2v — 2,8y »"2. The 0"5Y has no m*Hw 1°7; therefore he can have no 17°31 7. See “Thinking it over’” # 1.

% The rule of w"»vn is an extension of the rule of %31, where a third party acquires something for the recipient at the
behest of the benefactor. If the third party is not capable of acquisition then he is certainly not capable of w"nyn.

? See “Thinking it over’ # 2.

* The 71 of the Tpon/mn is being transferred away from him to the recipient.
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Certainly the 215 can extract the money of an 2'"12y.

mooin offers another explanation for this last case:
— 0997 79 ©52919 12395 19 1999NRY 159 139391 ©1939721 SN

And furthermore we judge them by their laws, for we tell the 2'12y, ‘this is

your law’, you also rule that the transfer (of w"avn) is effective -
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As the X123 states in X702 »1an P09,

SUMMARY

In the case of w"nyn with a gentile if he is the 7251 or MY it is not effective, if he is
the receiver one may give it to him if the benefactor does not retract and one
should not give it to him (if he can get away with it) if the benefactor retracts
(regardless if it was w"vn2), if the 0"V is the benefactor then it is w"vn1 911p.

THINKING IT OVER

1. mooIn rules that if the M>/7701 is an 2™>Y there can be no W"nyn 1°Ip, since 271 is
not effective by an 0"3v.” Why is it then that w"nyn is effective even 3"va of the
MY/7p1, since 37 is not effective 3"va of the M/7pp12!®

2. Why is it that in the first two cases (where the 0"D¥ is the recipient or the
middle man) MdOIN is certain what the ruling is; however in the last case (where
the 0"2¥ is the benefactor) Moo1n merely says 7%11Y,” meaning there is some room
for doubt?"

> Even if one were to question this "> of m201n (see footnote # 10), there is another reason why it is effective.

6 The X723 there reads: 2°1v15 172,117 79 12 MR 17737 PRI °1°72 71912 19° 0K DX 1’75 IN2W DIR *IWID1 PRIV R°INT
a51°7 92 1% R 1197, See w"wA (here).

7 See footnote # 1.

¥ See p MIX (W"XAT HY) RINI 127.

? See footnote # 3.

' See 1w nIX *"93 and 7"nK # 58.
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